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RE ko B #9 M BEER 2.87 cm > #3 HIAD

— I8 - HEREHRE
BER 0.953 cm

| #3
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440953 + 22 L..l b3 — #0

4
Mook em

(FEEBLEL hEHRESom 2EF8-)

4
Sy = MAX(db(#g), 1 gda) = dpyy,
breq - 2’((: + db(#.‘i)) + 5db(#9)

= 2(4 +0.953) + 5(2.87) = 24.256 cm

BNb=25cm
- db(#9>
hreq =d+c+ db(#3) -+ —2——-

——43+4+O953+2—2§—7-
= 49.388 cm
BN h=50cm

WTEHE @ HBERCER v - WEIERIBIRE J (MHEVRIRELEE

) > 2R #10 e BEER 322 om - #4WABER 1.27 cm -
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#4
h=55 d
8§ — #10
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L,
W oR oon
bTeq = 2(6 + db(#4)) + 7db(#m)
=2(4+1.27)+7(3.22)
=33.08 em
Bb=35¢cm
2.5
d=h—c¢c— db(#4) - db(#w) — —2——
2.5
:55—4——1.27—3.22——5—

=4526 cm

- BRIAKIR B = 0137wh,/[f kg/em? » RISHBEREHN B,
ibfin? ( BRVAH w = 2300 kg/m® » BEH) w = 143.5 Ib/f> )

"1 kg/em? = 14.19 1b/in?
N B, = 0137 w? L kg/em?
11419 LK L(E) V1419
#%l E, = a  w f Ib/in?

1435\ ——

K =247.716
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